Name: Y. L \{ Hour: Date:

NOTES: Section 4.3 - Solve x2 + bx + ¢ = 0 by Factoring

Goals: #1 - I can factor a quadratic in the form ax?+ bx +cwhena=1
#2 - | can factor a difference of two squares. @ @ @
#3 - I can factor a perfect square trinomial.
#4 - I can use the zero product property to solve ax? + bx + ¢ = 0 by factoring
whena =1
Homework: Lesson 4.3 Worksheet

Warm Up: Graph each function on the same coordinate plane. Identify the graph’s axis of
symmetry, vertex, y-intercept, whether the graph opens up or down, and its
maximum/minimum value.
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Exploration #1: Work with a partner. Find the product. R 33(\ 3)( 5\ ==3
1. (m-8)(m-9) 2. (y + 20)(y — 20)
Mm=9m-9m + 12 \31-20\j+20\j-%0

(v 1im +12) [=io)

CHALLENGE: Can you go backwards? Break x? — 9x + 20 into factors.
(x=5)(x - 4)
X=X -4x +20
X -Ax +20
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Name; Hour: Date:

Notes:

i m Q n B m \ M is an expression that is either a number, a variable, or

the product of a number and one or more variables. k \ i\ n“
Examples: ] ‘ X | C)X, ‘"i X\r
i Yg\ ﬂ \ m \ M is the sum of two monomials. | £ Yy ())
xamples: 7 % 4 1‘ X - \j | :'ng z X ) N ’p‘!

R AT

Examples: yx 4 \5 v 7

is the sum of three monomials. Q 2 Yy é)
X +\DX*5 5x k‘lx—t—lﬂ T3 )Yl‘fpl\jﬂ

5% "4 )\x 1%
Example #1: Factor the expression.
1. x2-9x 420 Factors of 20: 2. x2+3x—12 Factors of -12: !
100Ny foy 2 NN \ + 20 = 2] ) Y A WA | !
.\'-\_}\“ __“l":"._‘\:‘lr; ‘;ﬁ‘.z k ’f f LoX ‘0 E \r?_ Y\Q e' ?) + —L\ - -\ ‘
WY t*r 3 =9 \‘MWYM\ 7+ - -y
. )J L A Y —
Ahl i A ST R
| - ) | p : —5 + L.\ = I
-7 4+ v : Y

X -Ox + 10 v

3. x*-3x—-18 Factors of -18: 4. 124+ 2r - 63 Factors of -63:
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2 > q 4 o =3
g
X vy -ox — b Q{\&LL\L

7 D (r9)
\)’\'"f‘i‘;)("\ob\/ ‘ i*("”\Y \[43

‘WU'\Q% v/

Scanned by CamScanner



Date:

/' Name: Hour:
Notes:
There are (‘-)‘p Q (. \ 0\/\ factoring patterns we can look for! ) .
c LHENG ob AwD SQUBIEY:  ob
iixamples:\ *" -\o x"_ b4 % U}*b\[ﬁ'b)

(% -Dx1) Lw%\bﬁ'%)
L Pk 3000vC TYIN0p0l: 00 20 v

Examples: X '+ lox +9q X X 1 - (o 1 D)
O L “-70p v
(X+3)" (x-2)* 0. 2
Example #2: Factor the expression. - &0‘ b)
1. x2—49 2. d2+1‘2[\d+16 COrS 30
,-Lff R 2(0) o Z +\b =20
— = 3 v 1215
| _]fo 1) (X ﬂ “O\*\O\x @
(,T\EU{:)\ ) (d+b) (0 +0)
‘-.f'~'%l_(\%\*’7. 149 - d v
y = N //é. =9 4. y2+1_?y+64
- '7_ q\/ T
K- 7)) p*

(1-2)(q+2) (418’

Notes: : . .
We can use *\ 0 (3 unn % to solve certain (1\\) Okd‘ (Lh L QQ\\\)U\,T\ Jns.

We set the quadratic equation equal to _D__ and use the 7 e‘ h \‘) ‘ bd)\) G\ Y l ()\} (,‘ T\J
e Zero Product Property: \§ AN = 0! ’f'YU? }\ -0 op V- 0

The solutions of a quadratic equation are called the Y 00 Ki of the equation.
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Date: aacs

Name: Hour:
Example #3: Solve the equation.
e 5o,
\ ) -
-Z\?P L)ﬂ‘f‘] X J) 0 \Xl'fq‘u\_,"o
AT e x5=0 WU+ 9)=0
LA X=5 ,
L
Example #4: Find the roots of the equation. ( 90\ \1()
1. r2+§t1)‘=8%0 2.a*°-49=0
= _ b & . :
(*+2r-%0 =0 * o FHYenyg of savory

: t _T .-O
v +19) (r-3) =0 Sl ol

r+10=0 Y-% =0 ] ) r] 7Y

-0 1L "?5_7:;% . = v-l o ’]
e oo el

Exploration #1: Work with a partner and answer the following questions.
1. Rewrite the quadratic function in intercept form: y = x* —x — 12
Y= x-Xx-1 N Y=o x-p)(x-q)
Y= x-1)(x+3)

2. Graph the function you found in #1.

a. x-int(s): (L’jo) t3,0)
- s <-1+)—3 WU
A Z
y - (3) - (£)- 1= -12.25

b. What is the y-value of the x-intercepts?

0
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Name —— Hour: Date:

Notes:

Recall the 1\ RY &\? \ {, WY MN ofa quadratic function:_% QKX'V ) b( (l,)

Because quadratic function’s values are D when M and L@- these are
also called Ef { () ) of the function.

Example #5: Find the zeros of the function by rewriting the function in intercept form.

1. y=x>+12x+36 2, y=x%=7x-30

Y= s ‘OKXI“U) Y= (x -10)\x *3)
4= O ey xnd (009) 10,3)

- xte [
Xx-%

Example #6: The functiony = —1.17(x — 6)% + 42 models the leap of a gymnast where x is
the horizontal distance (in inches) and y is the corresponding height (in inches). What is

the gymnast’s maximum height? How far does she leap? Y !
, \S ¥
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